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Direction: Read the following 
passage and fill in each blank with 

words chosen from options given. 
Hostel life is a (###Q1###) 

phase. It takes few days for new 
students to (###Q2###) to the 

environment of the hostel. 
However, they soon get 

(###Q3###) to the same and 
begin a journey which is 

(###Q4###) for a long time. 
Living in a hostel is an 

(###Q5###) that makes you 
grow as a person. 

1. Find the appropriate word in each 

case. 
A. Elegant 

B. Complicate 
C. Beautiful 

D. Abundancy 
 

2.Find the appropriate word in each 
case. 

A. Neutralize 
B. Adjust 

C. Modify 
D. Changing 

 
3.Find the appropriate word in each 

case. 

A. Evacuated 
B. Worried 

C. Completed 
D. Accustomed 

 
4.Find the appropriate word in each 

case? 
A. Cherished 

B. Unwanted 
C. Assumed 

D. Belated 

5.Find the appropriate word in each 
case? 

A. Experience 
B. Instance 

C. Moment 
D. Era 

 
Direction: In the given statement 

some words have been highlighted. 
These words may not be at the 

correct place making the sentence 
grammatically and contextually 

incorrect. Choose the option which 
represents the correct sequence of 

words, which will make the 

sentence grammatically and 
contextually correct. If the sentence 

is correct as it is, choose E i.e. ‘No 
change required’ as your answer.  

 
6. Technology have easier (A) a 

long way to make human life 
covered (B) but the negative 

aspect (C) of it can’t be ignored. 
A. BAC  B. ACB 

C. CBA  D. CAB 
E. No change required 

 
Direction: In the given statement 

some words have been highlighted. 

These words may not be at the 
correct place making the sentence 

grammatically and contextually 
incorrect. Choose the option which 

represents the correct sequence of 
words, which will make the 

sentence grammatically and 
contextually correct. If the sentence 

is correct as it is, choose E i.e. ‘No 
change required’ as your answer.  
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7. It marks the democracy (A) 
when India became truly 

independent (B) and embraced 
day (C). 

A. ACB 
B. CBA 

C. BAC 
D. BCA 

E. No change required 
 

8.Humans (A) education 
empowers proper (B) and gets 

them ready to face challenges (C) 
of life efficiently. 

A. BCA 

B. ACB 
C. CAB 

D. BAC 
E. No change required 

 
9.There is no clear determinant 

(A) for determining when (B) a 
person becomes an adult (C). 

A. CAB 
B. BCA 

C. ACB 
D. CBA 

E. No change required 
 

10.New technology disturbed (A) 

new resources for which the 
requires (B) balance is ecological 

(C). 
A. BCA 

B. CBA 
C. ACB 

D. BCA 
E. No change required 

 
 

Direction: Read the sentence to 
find out whether there is an error in 

it. The error, if any, will be in one 
part of the sentence. The number 

corresponding to that part will be 
your answer. If the given sentence 

is correct as it is, mark the answer 
as ‘No error’. Ignore the errors of 

punctuation, if any.  
 

11. A formal education is (1)/ also 
responsible for (2)/ providing with 

(3)/ a enhanced lifestyle. (4) 
A. 1 

B. 2 

C. 3 
D. 4 

E. No error 
 

12.In the novel Farewell to 
Manzanar, (1)/ the author write an 

autobiography (2)/ about living in 
an internment (3)/ camp during 

World War II, known as Manzanar. 
(4) 

A. 1 
B. 2 

C. 3 
D. 4 

E. No error 

 
Direction: Read the sentence to 

find out whether there is an error in 
it. The error, if any, will be in one 

part of the sentence. The number 
corresponding to that part will be 

your answer. If the given sentence 
is correct as it is, mark the answer 

as ‘No error’. Ignore the errors of 
punctuation, if any.  

http://www.gradeup.com/


www.gradeup.co 

 
4 

 

13. The students of (1)/ Delhi 
University are (2)/ expecting the 

arrival of an (3)/ eminent social 
scientist. (4) 

A. 1 
B. 2 

C. 3 
D. 4 

E. No error 
 

Direction: Read the sentence to 
find out whether there is an error in 

it. The error, if any, will be in one 
part of the sentence. The number 

corresponding to that part will be 

your answer. If the given sentence 
is correct as it is, mark the answer 

as ‘No error’. Ignore the errors of 
punctuation, if any.  

14. Cricket is a popularly outdoor 
(1)/ game played in many parts of 

(2)/ the world on an (3)/ 
international and national level. (4) 

A. 1 
B. 2 

C. 3 
D. 4 

E. No error 
 

Direction: Read the sentence to 

find out whether there is an error in 
it. The error, if any, will be in one 

part of the sentence. The number 
corresponding to that part will be 

your answer. If the given sentence 
is correct as it is, mark the answer 

as ‘No error’. Ignore the errors of 
punctuation, if any.  

 
 

15. The pre-Socratic period (1)/ 
also had the Greek (2)/ 

philosophers believing in (3)/ the 
concept of beauty. (4) 

A. 1 
B. 2 

C. 3 
D. 4 

E. No error 
 

Direction: Select the most 
appropriate option to fill in the 

blank.  
16. Most of the multinational 

companies are having their 

branches _________the globe. 
A. across 

B. above 
C. about 

D. at 
 

17.We have been living in this 
palace ______ 1956. 

A. for 
B. since 

C. Against 
D. Through 

 
Direction: Select the most 

appropriate option to fill in the 

blank.  
18. She irritates me a lot, so I 

_____ her the cold shoulder. 
A. take 

B. put 
C. took 

D. gave 
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Select the most appropriate option 
to fill in the blank.  

19. You would ________ believe me 
when I tell you what I saw. 

A. rarely 
B. scarcely 

C. often 
D. seldom 

 
Direction: Select the most 

appropriate word to fill in the blank.  
20. I’m sure I ______ them at the 

party last night. 
A. am seeing 

B. was seeing 

C. have seen 
D. saw 

 
Direction: Select the word which 

means the same as the group of 
words given.  

21. A man of evil reputation 
A. Notorious 

B. Contagious 
C. Ambiguous 

D. Ambidextrous 
 

22.Something cannot be described 
A. Ineffable 

B. Indelible 

C. Affable 
D. Incapable 

 
Select the most appropriate word 

for the given group of words.  
23. A young person tending to 

commit crime, particularly minor 
crime. 

A. convict  B. derelict 
C. delinquent D. criminal 

 

Select the most appropriate word 
for the given group of word.  

24. A factual written account of 
important or historical events in the 

order of their occurrence. 
A. register 

B. chronicle 
C. chronology 

D. journal 
 

Direction: Select the word which 
means the same as the group of 

words given.  
25. A collection of drawings, 

documents, etc. that represent a 

person's, especially an artist's, work 
A. Dossier 

B. Sketch 
C. Profile 

D. Portfolio 
 

26. Direction: The questions below 
consist of a set of labelled parts of a 

sentence. Out of four options given, 
select the most logical order of the 

parts which form a coherent 
sentence. 

The accident spot 
P. has been declared 

Q. six months on the same spot 

R. have died in a road accident in 
last 

S. as a Black Spot because at least 
150 people 

A. PRQS 
B. PSRQ 

C. RQPS 
D. PSQR 
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Direction: The questions below 
consist of a set of labelled parts of a 

sentence. Out of four options given, 
select the most logical order of the 

parts which form a coherent 
sentence. 

27. There were many differences 
A. of opinion regarding the 

B. contagious leprosy was and 
C. how it was transmitted 

D. question of just how 
A. ADBC 

B. BDAC 
C. ABCD 

D. DACB 

 
Direction: The questions below 

consist of a set of labelled parts of a 
sentence. Out of four options given, 

select the most logical order of the 
parts which form a coherent 

sentence.  
28. The city police 

P : department reported 
Q : of all petty crimes 

R : go unreported 
S : that approximately 80 percent 

A. QSRP 
B. PSQR 

C. PRSQ 

D. SQRP 
 

Direction: The questions below 
consist of a set of labelled parts of a 

sentence. Out of four options given, 
select the most logical order of the 

parts which form a coherent 
sentence.  

29. It has been 
P : has a detrimental 

Q : found that the 

R : effect on the ozone layer 
S : use of body spray 

A. SPQR 
B. QSPR 

C. RSQP 
D. PQSR 

 
Direction: The questions below 

consist of a set of labelled parts of a 
sentence. Out of four options given, 

select the most logical order of the 
parts which form a coherent 

sentence.  
30. Work is the one thing 

P : and without it 

Q : that is necessary 
R : to keep the world going 

S : we all should die 
A. QPSR 

B. RPQS 
C. QRPS 

D. SRPQ 
 

31.Direction: Which of the 
following words have been correctly 

spelt 
A. Rhithm 

B. Refered 
C. Precede 

D. Pronounciation 

 
32.Direction: Select the correctly 

spelt word. 
A. Mathmetics 

B. Mathamatics 
C. Mathametics 

D. Mathematics 
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33.Direction: Select the correctly 
spelt word. 

A. Separate 
B. Saprate 

C. Saperate 
D. Siparate 

 
34.Direction: Select the correctly 

spelt word. 
A. miopic 

B. paradim 
C. doriphore 

D. anfractuous 
 

35. Direction: Select the correctly 

spelt word. 
A. Refrigirator 

B. Refreegerator 
C. Refrigerator 

D. Refridgerator 
 

36.Direction: Select the most 
appropriate synonym of the given 

word. 
Baroque 

A. magniloquent 
B. Moderate 

C. Modest 
D. Robust 

 

37.Direction: Select the most 
appropriate synonym of the given 

word. 
Accord 

A. deal 
B. antagonism 

C. discord 
D. denial 

 

38.Direction: Select the most 
appropriate synonym of the given 

word. 
Visage 

A. Silence 
B. Denial 

C. Quiet 
D. Expression 

 
Select the most appropriate 

antonym of the given word.  
39. TOUT 

A. annunciate 
B. embolden 

C. demoralize 

D. encourage 
 

Direction: What should come in the 
place of question mark (?) in the 

following question?  

40. [184 + ] + ? = 25 × 12 

A. 110 
B. 105 

C. 125 
D. 180 

 
41.[(428 + 124) ÷ 23] + 15 × 5 =? 

A. 84 
B. 99 

C. 80 
D. 96 

 

Direction: What should come in the 
place of question mark (?) in the 

following question?  

42. 16 + − 121 = ? × 5 

A. −15  B. 10 
C. −11  D. 16 
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43.In a division question the 
remainder is 0. A student mistook 

the divisor as 16 instead of 61. If he 
obtained 61 as quotient and 0 

remainder, what is the correct 
quotient? 

A. 24 
B. 20 

C. 16 
D. 32 

 
44.Amir spends one-fourth of his 

total income on education of his 
children and 25% on food. Now he 

left with Rs. 11249, then what is his 

total income? 
A. Rs. 22498 

B. Rs. 25684 
C. Rs. 24496 

D. Rs. 23102 
 

45.The simple interest on the sum 
Rs. 4570 at the rate of 60% per 

annum for 6 months is: 
A. Rs. 1244 

B. Rs. 1371 
C. Rs. 1465 

D. Rs. 1642 
 

46.83% of the population of a 

village is 142843. What is the total 
population of the village? 

A. 156200 
B. 135600 

C. 157400 
D. 172100 

 
 

 
 

47.A shopkeeper incurs a loss of 
15% on selling a product at Rs. 

2975. At what price should be sell 
the product to gain a profit of 15%? 

A. Rs. 4175 
B. Rs. 4225 

C. Rs. 4025 
D. Rs. 3895 

 
48.Out of a certain numbers of 

mangoes, 25% is sold, after which 
426 mangoes are left. How many 

mangoes are there originally? 
A. 568 

B. 546 

C. 572 
D. 584 

 
49.Navya invested a sum in a bank 

offering 15% compound interest 
compounded annually and received 

Rs. 1032 as interest after 2 years. 
Find the invested sum. 

A. Rs. 4000 
B. Rs. 2500 

C. Rs. 3200 
D. Rs. 3600 

 
Direction: What will come in the 

place of the question mark (?) in the 

following number series?  
50. 23, 26, 35, 62, 143, ? 

A. 372 
B. 386 

C. 360 
D. 396 
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51.25, ?, 61, 97, 145, 205 
A. 37 

B. 45 
C. 32 

D. 40 
 

52.6, 7, 16, 51, ?, 1045 
A. 215 

B. 222 
C. 208 

D. 236 
 

53.1800, ?, 60, 15, 5, 2.5 
A. 270 

B. 240 

C. 360 
D. 300 

 
54.The cost price of a bottle and a 

jug together is Rs. 2000. If bottle is 
sold at 20% and jug is sold at 5% 

loss and the total profit is made is 
5%, find the cost price of the bottle. 

A. Rs. 750 
B. Rs. 800 

C. Rs. 1200 
D. Rs. 1000 

 
55.The marked price of a Kurta is 

40% more than its cost price. If 

30% discount is given on Kurta, 
then what is the profit or loss 

percent after selling at discount? 
A. 2% loss 

B. 5% profit 
C. 4% loss 

D. 6% profit 
 

 
 

56.The difference between a two 
digits number and the number 

formed by reversing the digits is 18. 
If the sum of the digits of the 

number is 12 and the original 
number is greater then the number 

obtained by reversing the digits 
then find the product of the digits. 

A. 42 
B. 30 

C. 35 
D. 28 

 
57.A certain sum invested on simple 

interest becomes double in 1.5 

years. In how many years will it 
become 8 times from the same rate 

of interest on simple interest? 
A. 10.5 

B. 12 
C. 14.5 

D. 16 
 

58.In a will a person divided the 
amount of Rs. 29400 between his 

two sons, who are 17 years and 18 
years old respectively. He divided it 

in such a way that each of his sons, 
when they attain the age of 20 

years, would receive the same 

amount at 10% compound interest 
per annum. What is the present 

share of the younger son? 
A. Rs. 16500 

B. Rs. 15400 
C. Rs. 12600 

D. Rs. 14000 
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59.A person had Rs. 12000. He 
invested some of it in scheme A at 

the rate of 12.5% per annum simple 
interest and rest of the money in 

scheme B at the rate of 15% per 
annum simple interest. If after 2 

years the total interest received by 
him is Rs. 3350, then what is the 

amount invested in scheme B? 
A. Rs. 7200 

B. Rs. 6400 
C. Rs. 7000 

D. Rs. 7500 
 

Direction: What should come in the 

place of question mark (?) in the 
following question?  

60. 172 − 102 + 9 × 13 = (? – 6) × 
9 

A. 60 
B. 50 

C. 20 
D. 40 

 

61. + 122 + ? = 180 

A. 28 
B. 32 

C. 24 
D. 35 

 
Direction: What should come in the 

place of question mark (?) in the 

following question?  
62. [(24 + 16 × 15) ÷ 11] + ? = 

 + 12 

A. 24 

B. 16 
C. 20 

D. 28 
 

Direction: What should come in the 
place of question mark (?) in the 

following question?  
63. 124 + 156 – 106 + ? = 182 

A. 140 
B. 120 

C. 160 
D. 150 

 
64.The sales of a shopkeeper for 5 

weeks are Rs. 6535, Rs. 6627, Rs. 
6755, Rs. 6830 and Rs. 6962. How 

much sale he must have in the 6th 
week to get an average sale of Rs. 

6800 for 6 weeks? 

A. Rs. 7091 
B. Rs. 6820 

C. Rs. 7069 
D. Rs. 7161 

 
65.By selling 96 rings Tanisha suffer 

a loss equal to the selling price of 24 
PPE kit. What is the percentage of 

loss? 
A. 30% 

B. 25% 
C. 15% 

D. 20% 
 

66.The cost of a laptop is Rs. 12000 

and sold at 25% profit after given a 
discount of 20%. Find the marked 

price of the laptop. 
A. Rs. 16450 

B. Rs. 18750 
C. Rs. 17650 

D. Rs. 18520 
 

  

http://www.gradeup.com/


www.gradeup.co 

 
11 

 

67.The ratio of the milk to water in 
a mixture is 5 : 3. If 80 litres of milk 

is added in the mixture, the ratio of 
milk to water becomes 7 : 3. Find 

the quantity of the milk in the 
resultant mixture. 

A. 280 litres 
B. 240 litres 

C. 320 litres 
D. 300 litres 

 
68.The average weight of 20 girls in 

a school is 54 kg and the average 
weight of 15 boys in the school is 61 

kg. Find the average weight of these 

35 students. 
A. 60 kg 

B. 57 kg 
C. 54 kg 

D. 58 kg 
 

69.15, 26, 42, 63, ?, 120 
A. 85 

B. 72 
C. 89 

D. 78 
 

Direction: What will come in the 
place of the question mark (?) in the 

following number series?  

70. 101, ?, 197, 257, 325, 401 
A. 145 

B. 143 
C. 140 

D. 148 
 

 
 

 

Direction: What will come in the 
place of the question mark (?) in the 

following number series?  
71. 20, 21, 29, 56, ?, 245 

A. 144 
B. 120 

C. 135 
D. 136 

 
72.3, ?, 18, 38, 78, 158 

A. 15 
B. 6 

C. 10 
D. 8 

 

73.A and B invested the capital of 
Rs. 24000 and Rs. 20000 

respectively in a business. After 4 
months C joined them with the 

capital of Rs. 30000 . Find the profit 
share of C out of the total profit of 

Rs. 12000 at the end of a year. 
A. Rs. 4000 

B. Rs. 4200 
C. Rs. 3750 

D. Rs. 3600 
 

74.M and N started a business with 
an investment of Rs. 48000 and Rs. 

60000 respectively. The ratio of the 

period of investment by M and N 
was 5 : 3 respectively. If the profit 

share of N is Rs. 1350 at the end of 
a year, find the total profit earned 

by them. 
A. Rs. 4200 

B. Rs. 3150 
C. Rs. 3650 

D. Rs. 3800 
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75.In a mixture of 264 litres, the 
ratio of the milk to water is 8 : 3 . If 

55 litres of mixture is taken out and 
19 litres of water is added in the 

mixture, find the ratio of the milk to 
water in the final mixture. 

A. 2 : 1 
B. 3 : 2 

C. 4 : 5 
D. 3 : 4 

 
76.The ratio of the cost price and 

the marked price of a article is 5 : 8 
respectively. After given the 

discount of Rs. 120, the selling price 

of the article is Rs. 360, find the cost 
price of the article. 

A. Rs. 400 
B. Rs. 280 

C. Rs. 320 
D. Rs. 300 

 
77.The run scored in 4 cricket 

matches are 85, 95, 75 and 85. 
What should be the minimum 

number of runs scored in the 5th 
match to achieve the average of 87 

in the 5 matches? 
A. 75 

B. 95 

C. 80 
D. 85 

 
Direction: Study the following 

information carefully and answer 
the given questions carefully. 

 
Eight people A, B, C, D, E, F, G and 

H are sitting around a circular table 
and all of them are facing towards 

the centre. E is not the neighbour of 

A. G is third to the right of A. B is 
neither the neighbour of G nor A. C 

neither sits opposite to G nor is the 
neighbour of G and A. D is the 

neighbour of F and third to the left 
of B.  

 
78. How many people sit between F 

and C when counted from right of F? 
A. Three 

B. One 
C. Two 

D. None 
 

79.Who sits second to the right of 

H? 
A. E 

B. D 
C. G 

D. F 
 

80.Who sits adjacent to F? 
A. H 

B. A 
C. D 

D. E 
 

81.Who sits third to the right of G? 
A. H 

B. C 

C. A 
D. B 

 
Direction: Study the following 

information carefully and answer 
the given questions carefully.  

82. Statements: 
A ≤ M = B, U < T ≤ G, M > D ≥ U 

Conclusions: 
I. A < U 

II. M > G 
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A. Only conclusion I is true. 
B. Only conclusion II is true. 

C. Neither conclusion I nor II is true. 
D. Both conclusions I and II are 

true. 
 

83. Statement: 
K < I = R < T > A > L 

Conclusions: 
I. I < T 

II. R < A 
A. Only conclusion I is true. 

B. Only conclusion II is true. 
C. Neither conclusion I nor II is true. 

D. Both conclusions I and II are 

true. 
 

84. Statement: 
A > S > D < F = G = H > J > K > L 

Conclusions: 
I. F > L 

II. A < H 
A. Only conclusion I is true. 

B. Only conclusion II is true. 
C. Neither conclusion I nor II is true. 

D. Both conclusions I and II are 
true. 

 
85. Statement: 

Q > E ≤ W ≤ R < T = Y > U > I 

Conclusions: 
I. Q < Y 

II. E < Y 
A. Only conclusion I is true. 

B. Only conclusion II is true. 
C. Neither conclusion I nor II is true. 

D. Both conclusions I and II are 
true. 

 
 

 

86. Statement: 
Z ≤ X ≤ C = V ≤ B > N ≤ M 

Conclusions: 
I. Z ≤ B 

II. C < M 
A. Only conclusion I is true. 

B. Only conclusion II is true. 
C. Neither conclusion I nor II is true. 

D. Both conclusions I and II are 
true. 

 
87.What will be the mirror image of 

the word "SMART"? 
A. TRAMƧ 

B. TЯAMƧ 

C. TЯAMS 

D. TRAMS 
 

88.If 'BENCH' is coded as 'YVMXS' 
then how is 'FAULT' coded in this 

given language? 
A. UZFOG 

B. UXDML 

C. KRVBY 
D. SOENX 

 
89.If 'SCORE' is coded as 'IVSGW' 

then how is 'PLATE' coded in this 
given language? 

A. IXEPT 
B. IYDOT 

C. XITOE 
D. CXITO 
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Direction: Study the following 
information carefully and answer 

the given questions carefully. 
 

A % B means A is the husband of B. 
A # B means A is the wife of B. 

A * B means A is the mother of B. 
A $ B means A is the father of B.  

 
90. Which of the following 

expression is true if P is the son in 
law of M? 

A. M * N * O $ P 
B. M * N # O $ P 

C. M $ N # O $ P 

D. M # N $ O # P 
 

91.If A * D * F # G, then what is 
the relation of G with respect to D? 

A. Son 
B. Daughter-in-law 

C. Father 
D. Son-in-law 

 
92.Who is mother of P if F # T $ Y 

# U $ P is true? 
A. Y 

B. U 
C. T 

D. F 

 
93.Pick the odd one out? 

A. Surrender 
B. Fall 

C. Submit 
D. Win 

 
 

 

94.SHIRT is coded is XVMLW then 
what will be the code of PRIME in 

the given language? 
A. IQMVS 

B. IQMVC 
C. IQMVI 

D. IQMVT 
 

Direction: Study the following 
information & answer carefully: 

 
Eight people i.e., A, B, C, D, E, F, G 

and H are sitting around a circular 
table facing towards the centre. F 

sits neither close to A nor opposite 

to H. A and C sit opposite to each 
other. Exactly two persons are 

sitting between E and F. B sits 
second to left of H who sits fifth to 

the right of D. E is not neighbour of 
both A and C.  

 
95. Who sits opposite to D? 

A. H 
B. A 

C. E 
D. B 

 
96.Who sits second to the right of 

C? 

A. E 
B. D 

C. G 
D. F 

 
97.How many people sit between D 

and C from the right of C? 
A. One 

B. Three 
C. Two 

D. Four 
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Direction: In the question below 

are given three statements followed 
by the conclusions. You have to take 

the given statements to be true 
even if they seem to be at variance 

with commonly known facts. Read 
all the conclusions and then decide 

which of the given conclusions 
logically follows from the given 

statements disregarding commonly 
known facts. 

98. Statements: 
Some Rats are Deer. 

Some Deer are Bear. 

Conclusion: 
Some Rats are Bear. 

Some Deer are Rats. 
A. Only conclusion I is true. 

B. Only conclusion II is true. 
C. Either conclusion I or II is true. 

D. Neither conclusion I nor II is 
true. 

 
99.Statements: 

Some Birds are Seeds. 
All Seeds are fruits. 

Some fruits are flowers. 
Conclusion: 

Some Seeds are Flowers. 

Some Fruits are Birds. 
A. Only conclusion I is true. 

B. Only conclusion II is true. 
C. Either conclusion I or II is true. 

D. Neither conclusion I nor II is 
true. 

 
 

 
 

 

100. Statements: 
Some Rent is Home 

All Home is Alone 
Conclusion: 

Some Alone is rent 
Some Alone is not Rent 

A. Only conclusion I is true. 
B. Only conclusion II is true. 

C. Either conclusion I or II is true. 
D. Both conclusions I and II are 

true. 
 

101. Statements: 
Some Rate is Cost 

Some Cost is Buy 

All Buy is Price 
Conclusion: 

All Buy is Cost 
No Cost is Rate 

A. Only conclusion I is true. 
B. Only conclusion II is true. 

C. Either conclusion I or II is true. 
D. Neither conclusion I nor II is 

true. 
 

102. Statements: 
Some Colour is Paint 

No Paint is Ribbon 
Conclusion: 

Some Paint is not Ribbon 

Some Colour is not Ribbon 
A. Only conclusion I is true. 

B. Only conclusion II is true. 
C. Neither conclusion I nor II is true. 

D. Both conclusions I and II are 
true. 
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Direction: Study the following 
information and answer carefully. 

 
Eight people A, B, C, D, E, F, G and 

H are sitting around a straight-line 
facing North. H sits fourth to the 

right of C. D is neighbour of G who 
does not sit close to H. B sits at one 

end. A sits fifth to left of G. Neither 
G or A is sitting at the corner. F is 

not the neighbour of H.  
 

103. How many people sit between 
F and E? 

A. Two 

B. One 
C. Three 

D. No one 
 

104.Who sits third to the left of G? 
A. D 

B. E 
C. F 

D. H 
 

105.Who sits at the left end of the 
row? 

A. C 
B. F 

C. E 

D. H 
 

106.How many people sit to the left 
of H? 

A. Four 
B. Three 

C. One 
D. Two 

 
 

 

107.How sits immediate right of G? 
A. B 

B. D 
C. H 

D. E 
 

108.What is the mirror image of 
PHONE? 
A. ƎИOHP 

B. ƎИOHꟼ 

C. ƎNOHꟼ 

D. EИOHꟼ 

 
109.If SHOCK is coded is JUQME 

then what will be the code of PEACE 
in the given language? 

A. GRCGE 
B. RRCGE 

C. CRCGE 
D. GCRGE 

 

110.ANGLE is coded is DQJOH, then 
what will be the code of DOING in 

the given language? 
A. GRLQK 

B. GRLRJ 
C. GRMQJ 

D. GRLQJ 
 

111.Buffalo: Calf:: Deer: ? 
A. Kitten 

B. Cub 
C. Pup 

D. Fawn 
 

112.Pick the odd one out? 

A. Moon 
B. Neptune 

C. Uranus 
D. Pluto 
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Direction: Study the following data 
carefully and answer the questions 

accordingly. 
 

‘supreme court give decision’ is 
written as ‘dj rf ko gc’. 

‘court decision are implemented’ is 
written as ‘et ko gc hr’. 

‘implemented workers are supreme’ 
is written as ‘ia hr et rf’. 

‘workers give important 
contribution’ is written as ‘mv ol ia 

dj’. 
‘contribution in decision effective’ is 

written as ‘bg tn gc ol’.  

113. What is the code for ‘ko’ and 
‘ol’? 

A. give and important 
B. court and contribution 

C. decision and supreme 
D. contribution and decision 

E. effective and court 
 

114.If ‘effective decision 
implemented’ is coded as ‘hr gc tn’ 

then what is the possible code for ‘in 
give are supreme’? 

A. bg dj ko rf 
B. dj rf gc hb 

C. Cannot be determined 

D. et rf dj bg 
E. None of these 

 
115.What is the code for ‘et’ and ‘ia’ 

respectively? 
A. ‘workers’ and ‘contribution’ 

B. Either ‘implemented’ or ‘are’ and 
‘workers’ 

C. Either ‘in’ or ‘effective’ and ‘give’ 
D. ‘implemented’ and ‘supreme’ 

E. None of these 

116.If the code for ‘implemented’ is 
interchanged with ‘important’ and 

then ’important contribution’ is 
coded as ‘et ol’ then what is the 

possible code for ‘important are 
life’? 

A. ko mv fa 
B. Cannot be determined 

C. hr fa dp 
D. m via fa 

E. fa mv hr 
 

117.What is the code for ‘dj ol ap rf 
hb’? 

A. empower give supreme 

contribution strict 
B. give implement strict decision 

empower 
C. effective in strict empower 

contribution 
D. supreme workers give strict 

decision 
E. None of these 

 
Direction: Study the following data 

carefully and answer the questions 
accordingly. 

There are ten people living in a five 
storey building such as the ground 

floor is numbered 1 and the top 

floor is numbered as 5. Each of the 
floors has 2 flats as flat-A and flat-

B. 
(Note 1: Flat-A is to the west of flat-

B. Flat-A of floor 2 is immediate 
above flat-A of floor 1 and 

immediate below flat-A of floor 3 
and so on. All the information is not 

necessarily in the same order. 
Note 2: If B lives in flat B and it is 

given that A lives above B then it 
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means that A either lives in flat A or 
flat B above B. It is not necessary 

that A and B live in the same flat.) 
K lives on the second floor. Q lives 

below K in flat B. There are two 
floors between Q and N and both 

lives in different flats. W lives in the 
south-east of N but not with K. W 

lives in the north-east of R, who 
does not live on the ground floor. J 

lives in the north-west of O. V lives 
below G and above F. 

 
118. Who lives on the third floor? 

A. F 

B. J 
C. V 

D. O 
E. None of these 

 
119.Who among the following lives 

on the same floor? 
A. J, N 

B. K, F 
C. G, O 

D. J, G 
E. None of these 

 
120.How many people live below F? 

A. Four 

B. Two 
C. Six 

D. Eight 
E. None 

 
121.K is related to V, N is related to 

G, then, in the same way, O is 
related to- 

A. R   B. V 
C. N   D. J 

E. None of these 

122.Who among the following lives 
in the south of R? 

A. N 
B. F 

C. G 
D. O 

E. None of these 
 

Direction: Study the data carefully 
and answer the questions 

accordingly. 
Point S is 30m north of point T. 

Point P is 30m south of point O. 
Point Q is 30m east of point P and 

35m south of point R. Point R is 20m 

west of point S. Point M is 20m 
north of point N and 15m east of 

point O. 
 

123. Point O is in which direction of 
point Q? 

A. West 
B. South-East 

C. East 
D. North-West 

E. None of these 
 

124.Four from the following are 
similar in a certain way and forms a 

group. Find out the one, which does 

not belong to that group. 
A. P, M 

B. O, R 
C. N, S 

D. Q, T 
E. N, O 
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125.Point P is in which direction of 
point T? 

A. West 
B. South 

C. South-West 
D. East 

E. None of these 
 

Direction: Study the information 
given below and answer the 

questions based on it: 
457 632 893 249 542 782 

 
126.  If ‘1’ is added to the first digit 

of all the even numbers and ‘2’ is 

subtracted from the third digit of all 
the odd numbers, in how many 

numbers thus formed will a digit 
appear twice? 

A. Less than four 
B. Three 

C. More than four 
D. Four 

E. None of these 
 

127.If all the numbers are arranged 
in ascending order from left to right 

then which of the following will be 
the product of the first and second 

digits of the number which is fourth 

from right end? 
A. 10 

B. 20 
C. 18 

D. 8 
E. None of these 

 
128.If in each number, the first and 

the third digits are interchanged 
then which of the following number 

will be the lowest number? 

A. 782 
B. 249 

C. 542 
D. 632 

E. None of these 
 

129.If all the vowels of the word 
‘COMPUTER’ is changed to the next 

letter in the English alphabetical 
series and each consonant is 

changed to the previous letter in the 
English alphabetical series and then 

the alphabetical thus formed are 
arranged in alphabetical order from 

right to left, then which of the 

following letter will be 4th letter from 
right? 

A. F 
B. L 

C. O 
D. B 

E. Q 
 

130.All the letters of ENFRANCHISE 
are arranged as the English 

alphabetical series. Then how many 
meaningful English words can be 

formed, starting with S,with the 
first, the fourth, the eighth, the 

tenth and the eleventh letters of the 

rearranged word, using each letter 
only once in each letter? 

A. None 
B. One 

C. Two 
D. Three 

E. More than three 
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131.If in the number 745236745, 2 
is added to first four digits of the 

number and 1 is added to last five 
digits of the number, then which 

amongst the following digits are 
repetitive? 

A. 4, 6 and 7 
B. 4 and 6 

C. 4 and 7 
D. 6 and 7 

E. None of these 
 

Direction: Study the following 
information carefully and answer 

the question given below. 

The pie chart given below shows the 
percentage distribution of the 

amount invested by a person in five 
different schemes – FD, Insurance, 

Stocks, PPF and Gold. 
Total amount invested = Rs. 25000 

 
 

132. What is the difference between 
the amount invested in Stocks and 

Gold? 
A. Rs. 1500 

B. Rs. 1250 
C. Rs. 1750 

D. Rs. 2000 
 

 

Direction: Study the following 
information carefully and answer 

the question given below. 
The pie chart given below shows the 

percentage distribution of the 
amount invested by a person in five 

different schemes – FD, Insurance, 
Stocks, PPF and Gold. 

Total amount invested = Rs. 25000 

 
 
133. What is the ratio of the amount 

invested in FD to that in Insurance? 
A. 2 : 3 

B. 4 : 5 
C. 6 : 5 

D. 4 : 7 

 
134.The amount invested in PPF is 

how much percentage more than 
the amount invested in Stocks? 

A. 20% 
B. 25% 

C. 15% 
D. 30% 

 
Direction: Study the following 

information carefully and answer 
the question given below. 

The pie chart given below shows the 
percentage distribution of the 

amount invested by a person in five 
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different schemes – FD, Insurance, 
Stocks, PPF and Gold. 

Total amount invested = Rs. 25000 

 
 
135. If FD offers the simple interest 

of 12% p.a., find the interest 
received by the person on FD after 

2 years. 
A. Rs. 900 

B. Rs. 840 
C. Rs. 800 

D. Rs. 960 
 

136.Which of the following 
organisation released the Financial 

Stability Report? 

A. SIDBI 
B. SEBI 

C. NABARD 
D. IRDAI 

E. RBI 
 

137.The Department for Promotion 
of Industry and Internal Trade 

(DPIIT) works under which ministry 
that launched a regulatory 

compliance portal that will act as a 
bridge for citizens, industries and 

the government to minimise 
burdensome compliances? 

 

 

A. Ministry of Finance 
B. Ministry of Commerce and 

Industry 
C. Ministry of External Affairs 

D. Ministry of Electronics and 
Information Technology 

E. Ministry of Consumer Affairs, 
Food and Public Distribution 

 
138.The Zayed Cricket Stadium will 

be the new home of T10 cricket for 
the next five years, starting with the 

2019 season. Zayed Cricket 
Stadium is located in____. 

A. UAE 

B. Pakistan 
C. Bangladesh 

D. Australia 
E. India 

 
139.Which country has awarded its 

highest state honour 'Order of St 
Andrew the Apostle' to PM Narendra 

Modi in September 2019? 
A. France 

B. UAE 
C. Russia 

D. USA 
E. UK 

 

140.Which among the following 
railway stations in India became the 

1600th Rail-Wire Wi-Fi zone? 
A. Santacruz railway station, 

Mumbai 
B. Nizamuddinrailway station, Delhi 

C. Motiharirailway station, Bihar 
D. Dhanbadjunction, Jharkhand 

E. Cuttack railway station, Odisha 
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141.‘Azadi Ke Diwane’ museum has 
been inaugurated on 4th March 2019 

in premises of which fort in Delhi? 
A. Red fort 

B. Purana Qila 
C. Siri fort 

D. Tughlaqabadfort 
E. Salimgarh fort 

 
142.Who among the following is the 

winner of the 2019 World Chess 
Championship? 

A. Yifan Hou 
B. Mariya Muzychuk 

C. Veselin Topalov 

D. Magnus Carlsen 
E. None of these 

 
143.Which of the following 

countries has launched the World’s 
first 'floating nuclear power plant' 

(FNPP)? 
A. China 

B. USA 
C. Russia 

D. India 
E. Japan 

 
144.Where is the headquarters of 

Asian Development Bank (ADB) 

located? 
A. Berlin, China 

B. Tokyo, Japan 
C. Moscow, Russia 

D. Shenzhen, China 
E. Mandaluyong, Philippines 

 
 

 
 

145.Which country will host the 11th 
BRICS Summit 2019? 

A. South Africa 
B. India 

C. Brazil 
D. Russia 

E. China 
 

146.The book “No Presents Please” 
has been authored by _____. 

A. Mohsin Hamid 
B. Anita Desai 

C. Dinesh Shahra 
D. Kamila Shamsie 

E. Jayant Kaikini 

 
147.India’s first integrated lifestyle 

and banking digital service platform 
named ‘YONO’ (acronym for ‘You 

Only Need One’) was launched by 
____. 

A. HDFC 
B. ICICI 

C. SBI 
D. Yes 

E. Canara 
 

148.In 2018, Bharat Vatwani and 
________ were the two Indians 

awarded with the Ramon 

Magsaysay award. 
A. Rajendra Singh 

B. Arvind Kejriwal 
C. Sonam Wangchuk 

D. Sathyabhama Das Biju 
E. Ravish Kumar 
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149.Which Union territory became 
the first Union territory of India to 

run completely on solar power 
energy? 

A. Delhi 
B. Diu 

C. Lakshadweep 
D. Puducherry 

E. None of these 
 

150.Who has been appointed first 
woman vice-chancellor of Jamia 

Millia Islamia? 
A. Tanvi Azmi 

B. Zaira Wasim 

C. Zarina Wahab 
D. Najma Akhtar 

E. Zeenat Aman 
 

151.World Piano Day being 
observed on _______. 

A. Mar 29 
B. Mar 25 

C. April 21 
D. Dec 22 

E. None of these 
 

152.Which two Indian Naval Ships 
took part in the celebrations of the 

70th anniversary of the Chinese 

People's Liberation Army (PLA) 
Navy? 

(i) INS Kolkata 
(ii) INS Shakti 

(iii) INS Arihant 
(iv) INS Sahyadri 

A. (ii) & (iii) 
B. (i) & (iii) 

C. (i) & (ii) 
D. (ii) & (iv) 

E. (iii) & (iv) 

153.In which year will India host the 
G20 presidency? 

A. 2021 
B. 2022 

C. 2023 
D. 2024 

E. 2025 
 

154.Which sportsperson received 
the 2018 Rajiv Gandhi Khel Ratna 

award? 
A. P.V. Sindhu 

B. Bajrang Punia 
C. Virat Kohli 

D. Jitu Rai 

E. Dipa Karmakar 
 

155.Which among the following 
countries is ranked at topped 

position in the World Human 
Development Index (HDI) 2018? 

A. Finland 
B. Denmark 

C. Norway 
D. Australia 

E. Switzerland 
 

156.Who is the current Chief 
Election Commissioner (CEC) of 

India? 

A. Sunil Arora 
B. S. Y. Quraishi 

C. N. Gopalaswami 
D. Navin Chawla 

E. O.P. Rawat 
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157.Who is the current Chief 
Economic Advisor to the 

Government of India? 
A. Arvind Subramanian 

B. Surjeet Bhalla 
C. K Subramanian 

D. Amitabh Ghosh 
E. None of the above/More than one 

of the above 
 

158.The headquarters of the World 
Economic Forum (WEF) is located in 

_____________. 
A. Washington D.C. 

B. New York 

C. Geneva 
D. Vienna 

E. Paris 
 

159.World Economic Outlook Report 
is released by: 

A. IMF 
B. WTO 

C. WEF 
D. World Bank 

 
160.Section 12 of Banking 

Regulation Act 1949 deals with 
_____________ 

A. Licensing of banking companies 

B. Business of banking in India 
C. Capital structure in a banking 

company 
D. Amalgamation of banking 

companies 
E. Cash Reserve 

 
 

 
 

161.On 20 April 2019, Indian Navy 
launched which guided missile 

destroyer from Mazagon Dock in 
Mumbai? 

A. Prahar 
B. Astra 

C. Shashtra 
D. Shaurya 

E. Imphal 
 

162.A 73-year-old Isaak Hayik set a 
new world record as the world’s 

oldest person to play in a 
professional soccer match. Isaak 

Hayik belongs to which country? 

A. Germany 
B. Italy 

C. Israel 
D. South Africa 

E. France 
 

163.Name the telecom company 
that recently got approval from 

Bombay Stock exchange and 
National Stock exchange for its 

proposed merger with Telenor 
india? 

A. Bharthi Airtel 
B. Vodafone 

C. Idea 

D. Tata Docomo 
E. None of the above 

 
164.Which bank gained the status 

of Domestic Systemically Important 
Banks (D-SIBs) in 2018? 

A. ICICI Bank 
B. SBI 

C. Axis Bank 
D. HDFC Bank 

E. PNB 
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165.What is the threshold for bulk 
deposit, which has been revised by 

RBI? 
A. Rs 2 crore and above 

B. Rs 3 crore and above 
C. Rs 4 crore and above 

D. Rs 5 crore and above 
E. Rs 6 crore and above 

 
166.How many individuals have 

declared an income of more than 
₹100 crore during assessment year 

2017-18? 
A. 41 

B. 51 

C. 61 
D. 71 

E. 81 
 

167.An unsecured loan instrument 
issued by a company that can be 

converted into stock is known as 
__________________. 

A. Convertible debenture 
B. Non-convertible debenture 

C. Redeemable Debentures 
D. Non- Redeemable Debentures 

E. None of the above 
 

168.National Housing Bank is an 

apex principal agency to promote 
housing finance institution to 

provide financial and other support 
Incidental to such institution and for 

matters connected therewith. The 
authorized capital of NHB stands at 

________. 
A. 1000 crores B. 2000 crores 

C. 3000 crores D. 4000 crores 
E. 5000 crores 

 

169.According to Global Nutrition 
report 2018, which country tops the 

list of countries with children 
stunting? 

A. Pakistan 
B. Nigeria 

C. India 
D. Bangladesh 

E. Indonesia 
 

170.Which country topped the 
inclusive internet index prepared by 

Economist Intelligence Unit in 
February 2019? 

A. Denmark 

B. Sweden 
C. Portugal 

D. Spain 
E. Switzerland 

 
171.Which Indian artist has been 

chosen as the Glenfiddich emerging 
artist 2019? 

A. Sitaram Swain 
B. Chetnaa Verma 

C. Sudarshan Patnaik 
D. Raju Baraiya 

E. Subir Hati 
 

172.According to EPFO payroll data 

the net employment generation in 
the formal sector in Feb 2019 was 

around ____________________. 
A. 8.61 lakh 

B. 7.43 lakh 
C. 6.56 lakh 

D. 5.33 lakh 
E. 5.78 lakh 
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173.Which rail coach factory in 
India has recently become the 

largest rail car manufacturer in the 
world after building more than 2000 

coaches in 2018-19? 
A. Integral Coach Factory 

B. Kapurthala Rail Coach Factory 
C. Modern Coach Factory 

D. Central Coach Factory 
E. None of the above 

 
174.Which is a specialized financial 

institution that buys the NPA or bad 
assets from banks and financial 

institutions so that it can clean up 

the balance sheets? 
A. Bad Banks 

B. ARC 
C. RBI 

D. NHB 
E. SEBI 

 
175.Which Indian receive the knight 

of the order of Arts and letters for 
2018 from the French government? 

A. Kalki Koechlin 
B. Ekta Kapoor 

C. Nandita Das 
D. Alia Bhatt 

E. None of the above 

 
176.What is an investment fund 

that is characterized by 
diversification among two or more 

asset classes? 
A. Hybrid Fund 

B. Open-ended fund 
C. Index Fund 

D. Money Market Fund 
E. Liquid Fund 

 

177.Which regulatory body has 
constituted the Task Force on 

Offshore Rupee Markets? 
A. RBI 

B. SEBI 
C. SIDBI 

D. IRDAI 
E. NABARD 

 
178.What is the highest polling 

booth in 2019 Lok Sabha election? 
A. Leh 

B. Tashigang, Himachal Pradesh 
C. Gangtok, Sikkim 

D. Jammu 

E. None of the above 
 

179.What does A stand for in TPA? 
A. Administrator 

B. Apprenticeship 
C. Atmanirbhar 

D. Assistance 
E. Affordable 

 
180.What is the expanded form of 

SHREYAS? 
A. Suraksha Health Regional 

Equality Youth Authorised Scheme 
B. Sustainable Higher Education for 

Youth in Apprenticeship Scheme 

C. Scheme for Higher Education 
Youth in Apprenticeship and Skills 

D. Survey of Health, Regions, 
Education, Youth, Augmentation 

Scheme 
E. None of the above 
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181.Who is the first woman to co-
pilot the indigenously made Tejas in 

the 12th edition of Aero India 2019? 
A. Gunjan Saxena 

B. P V Sindhu 
C. Bhawana Kanth 

D. Avani Chaturvedi 
E. Sania Nehwal 

 
182.Who headed the Committee on 

Deepening of Digital Payments? 
A. Nandan Nilekani 

B. Ajay Mathur 
C. M S Viswanathan 

D. Urjit Patel 

E. Raghu Ram Rajan 
 

183.Where is the headquarters of 
Fincare Small Finance Bank? 

A. Bengaluru 
B. Delhi 

C. Mumbai 
D. Hyderabad 

E. Kolkata 
 

184.What does ‘T’ stand for in 
FATF? 

A. Trade 
B. Task 

C. Terminate 
D. Time 

E. Terrorist  
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ANSWERS 
1. Ans. C.  

 As we need an adjective to describe 
the hostel life and that phase, 

'Beautiful' stands out as the most 
appropriate fit. 

The correct answer is option C. 
2. Ans. B.  

The context mentions that students 
take time to adapt to the 

environment. 'Adjust' is the most 
appropriate fit here, hence, correct 

answer is option B. 
3. Ans. D.  

As the previous sentence talks 

about students getting adjusted, so 
here 'accustomed' turns out to be 

the correct answer. The correct 
answer is option D. 

4. Ans. A.  
The correct answer is option A. 

5. Ans. A.  
The correct answer is option A. 

6. Ans. A.  
Option A is the correct answer. The 

term ‘easier’ is an comparative 
adjective. It cannot follow an 

auxiliary verb. A verb can follow an 
auxiliary verb. Thus, the correct 

sequence should be BAC. Thus, 

option A is the correct choice. 
7. Ans. B.  

Option B is the correct answer. One 
cannot embrace ‘day’. Contextually 

it does not make sense. India can 
embrace ‘democracy’, a form of 

government. Thus, the correct 
sequence will be CBA. 

8. Ans. D.  
The correct choice is option D. 

Proper is an adjective. It can qualify 

a noun. It can qualify the noun 

education. Thus, the correct 
sequence will be BAC. 

9. Ans. E.  
All the words are placed in correct 

sequence and requires no change. 
Thus, option E is the correct answer. 

10. Ans. A.  
The correct answer is option A. The 

passage states that new technology 
needs certain resources which 

disturbs the ecological balance. The 
correct sequence is thus BAC. 

Thus, option A is the correct choice. 

11. Ans. D.  
The correct choice is option D. 

Reason: The error is in the fourth 
part of the sentence. 

Before vowels we always use ‘an’ 
instead of ‘a’. The word ‘enchanced’ 

starts with the vowel ‘E’ and hence 
we need to use ‘an’ in place of ‘a’ 

before it. 
12. Ans. B.  

Option B is the correct choice. 
Reason: The error is in the second 

part of the sentence. 
‘Write’ should be used in place of 

‘writes’. Here, in the given 

sentence, ‘author’ is a singular 
subject. As a result, it will take a 

singular verb with it. 
13. Ans. D.  

Option D is the correct answer. 
Reason: The error is in the last part 

of the sentence. 
Here “imminent” should be used in 

place of “eminent”. 
Eminent is an adjective which 

means famous and respected within 
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a particular sphere and generally 
refers to a person. Alternatively, it 

may also mean ‘present to a notable 
degree.’ 

Imminent refers to something that 
is about to happen. Synonyms of 

imminent are looming, impending, 
forthcoming etc. 

14. Ans. A.  
The error is in the first part of the 

sentence. 
Reason: Popularly is an adverb 

which needs to be replaced with an 
adjective form, which is popular. 

Thus, option A is the correct 

answer. 
15. Ans. E.  

There is no error in this sentence 
and thus option E is the correct 

answer. 
16. Ans. A.  

 The correct phrase is 'across the 
globe'. So, the correct answer is 

option A. 
17. Ans. B.  

 As the sentence is in past perfect 
continuous tense and it mentions a 

year to denote since when, so the 
correct word here would be 'since'. 

The correct answer is option B. 

18. Ans. D.  
The sentence implies the subject 

ignored her because she irritates 
her a lot. The idiom 'give a cold 

shoulder' means 'to intentionally 
ignore someone or treat someone in 

an unfriendly way'. Hence, the 
blank should be filled in with 'gave' 

to make the sentence contextually 
correct. 

Hence, option D is the correct 
answer. 

19. Ans. B.  
The sentence implies that the 

person would hardly believe if the 
subject told what he saw. Also, 

'scarcely' is always followed by 
'when', thereby, making the 

correlative conjunction 
'scarcely…when'. 

Thus, 'scarcely' meaning 'only just; 
almost not' is the apt fit for the 

blank.  
'Rarely' = 'not often; seldom'. 

'Often' = 'frequently; many times'. 

'Seldom' = 'not often; rarely'. 
Hence, option B is the correct 

answer. 
20. Ans. D.  

Here option D is the correct answer. 
“Last night” indicates past tense, 

and the incident took place at a 
moment of time or it happened for 

once. Hence, it must be in simple 
past tense. Thus “saw“ is the 

appropriate choice. 
21. Ans. A.  

 Note the meanings of the given 
words : 

 

Notorious: well known for 
something bad 

Ambiguous: having more than one 
possible meaning 

Ambidextrous: able to use the left 
hand and the right hand equally well 

Contagious: (used about a disease) 
that you can get by touching 

somebody/something 
So, the correct answer is option A. 
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22. Ans. A.  
Ineffable: too beautiful, great, etc. 

to describe in words 
Indelible: that cannot be removed 

or washed out 
Affable: pleasant, friendly and easy 

to talk to 
Incapable: not able to do something 

The correct answer is option A. 
23. Ans. C.  

Let’s understand the meaning of the 
given words: 

Convict: A person serving a 
sentence in a jail or prison 

Derelict: A person without a home, 

job, or property 
Delinquent: A young offender 

Criminal: Someone who has 
committed a crime or has been 

legally convicted of a crime 
Hence, option C is the correct 

answer. 
24. Ans. B.  

Let’s understand the meaning of the 
given words: 

Register: Record in writing; enter 
into a book of names, events or 

transactions 
Chronicle: Record in chronological 

order; make a historical record 

Chronology: An arrangement of 
events in time 

Journal: A daily written record of 
(usually personal) experiences and 

observations 
Hence, option B is the correct 

answer. 
25. Ans. D.  

The meanings of the words are: 
Dossier: A dossier is a collection of 

papers or other sources, containing 

detailed information about a 
particular person or subject. 

Sketch: a rough or unfinished 
drawing or painting, often made to 

assist in making a more finished 
picture. 

Profile: an outline of something, 
especially a person's face, as seen 

from one side. 
Portfolio: a set of pieces of creative 

work intended to demonstrate a 
person's ability to a potential 

employer. 
Hence, option D is the correct 

answer. 

26. Ans. B.  
 The correct order is PSRQ. Note 

that the subject finds mention in P. 
S follows P naming the spot 

mentioned in P. What happened to 
the people is mentioned in R so it 

will be next in the sequence. Last 
would be Q. 

The correct option is B. 
27. Ans. A.  

o The given segment introduces the 

subject of the sentence. 

o It ends with the noun 

'differences'. 
o The next segment should tell what 

differences are being talked about 
in the sentence. 

o This is mentioned in segment A 

i.e. 'difference of opinions'. 

o 'The' present in segment A should 

be followed by a noun. 

o Out of all the remaining segments, 

the noun is present in segment D. 

o The segments B and C form a 

mandatory pair. 
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o B further elaborates the question, 

thereby, making it the next 

segment. 
o Segment C contains the clause 

that should be followed after the 
conjunction 'and'. So, it comes at 

last. 
 

Thus, the rearranged sentence 
would be – 'There were many 

differences of opinion regarding 
the question of just how 

contagious leprosy was and 

how it was transmitted'. 
Hence, option A is the correct 

answer. 
28. Ans. B.  

The sentence is grammatically 
incorrect. 

• Let's first understand the 
sequence that a sentence requires 

according to its tense. 
• The sentence is stated in Simple 

Past tense. It is evident from the 
main verbs ‘reported’ and 

‘unreported’. 
• In the simple present tense the 

sentence sequence is like : 

Subject +main verb(simple past 
form of the verb/v2)+object. 

• In this sentence the city police is 
the subject, so according to the rule 

it will take the main verb which is is 
department reported. 

• Then comes the information that 
what report has come out. The 

report seemed 'that approximately 
80 percent go on reported'. 

• So the correct order will be: PSQR. 
• Thus, the correct sentence will be: 

The city police department 
reported that approximately 80 

percent of all petty crimes go 
unreported. 

• Hence, option B is the correct 
answer. 

29. Ans. B.  
We need to find out the correct 

sequence of the jumbled portion in 
a correct sentence. 

• Let us first know the kind of 
sentence and tense used in the 

question sentence. 
• The starting of the sentence is 

already given which is 'it has been.' 

'It' is the subject here. It has an 
auxiliary verb has been. 'Has been' 

is used in the passive voice of the 
past perfect tense. 

• The correct past perfect passive 
voice format is: 

Subject+ has/have+ been+ main 
verb(past participle form/V3)+ 

object 
• It is evident that, in the passive 

voice sentence, the auxiliary verb 
will take the main verb after it. It 

also needs to be in past participle 
form. The main verb of the sentence 

is contained in 'Q'. So 'Q' will be the 

first part of the sentence. 
• Now the second part of the 

sentence will come where it is 
described that the usage of body 

spray has impact on the ozone 
layer. This sentence is based on the 

first portion of the sentence. So this 
portion will come right after 'Q'. As 

'S' contains this section so 'S' will be 
the next one. 
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• 'S' contains a subject that is body 
spray. This subject will also require 

and helping verb. P starts with are 
helping verb with easily fits with ' 

body spray'. This subject is in the 
third person and singular number so 

has is its correct kind of auxiliary 
verb. 

• At last, are is left with the object 
of the sentence that is the ozone 

layer. 
• So the correct format will be: 

QSPR. 
• Thus, the correct sentence will be: 

It has been found that the use 

of body spray has a detrimental 
effect on the ozone layer 

• Hence, option B is the correct 
answer. 

30. Ans. C.  
o We have given the theme of the 

sentence i.e. 'work'. 
o It says that work is the one thing 

that does something. 
o So, Q will be the first part that 

will come after it. 

o Part QR also makes a pair i.e. 

something is necessary to keep 

something else. Thus, R will come 
after Q. 

o PS also makes a pair i.e. 

without something we all should 

die. 
 

• Thus, the correct sequence will 
be QRPS. 

o After rearranging the parts, the 

sentence will be: Work is the one 

thing that is necessary to keep 
the world going and without it, 

we all should die. 

Hence, option C is the correct 
answer. 

31. Ans. C.  
 Note the correct spellings: 

A: rhythm 
B: Referred 

D: Pronunciation 
32. Ans. D.  

Option D has the correctly spelt 
word. Mathematics is the science 

(or group of related sciences) 
dealing with the logic of quantity 

and shape and arrangement. 
Hence, option D is the correct 

answer. 

33. Ans. A.  
The correct spelling is 'separate', 

which means to act as a barrier 
between; stand between. 

Hence, option A is the correct 
answer. 

34. Ans. D.  
Option D has the correctly spelt 

word. “Anfractuous” is the correct 
spelling of the word that means 

having a lot of bends or curves. 
The correct spellings and meanings 

of the other words are as follow: 
Myopic = lacking foresight or 

intellectual insight. 

Paradigm = a model of something, 
or a very clear and typical example 

of something. 
Doryphore = a pedantic and 

annoyingly persistent critic. 
35. Ans. C.  

Option C has the correctly spelt 
word. A refrigerator is an essential 

home appliance for all seasons. It is 
used to store your perishable food 
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items such as milk, butter, bread, 
fresh fruits, etc. 

36. Ans. A.  
 The correct answer is option A. 

37. Ans. A.  
38. Ans. D.  

 The correct answer is D. 
39. Ans. C.  

Let’s first learn the meanings of the 
given words: 

 
Tout = to advertise, talk about, or 

praise something or someone 
repeatedly, especially as a way of 

encouraging people to like, accept, 

or buy something 
e.g. He is being widely touted as the 

next leader of the party. 
 

Annunciate = announce 
 

Embolden = to make someone 
brave 

 
Demoralize = to weaken the morale 

of; discourage 
e.g. Losing several games in a row 

had completely demoralized the 
team. 

 

Encourage = to make someone 
more likely to do something, or to 

make something more likely to 
happen 

 
Hence, option C is the correct 

answer. 
40. Ans. A.  

[184 + ] + ? = 25 × 12 

⇒ 184 + 6 + ? = 300 

⇒ ? = 300 – 190 

⇒ ? = 110 

Hence, option A is correct. 

41. Ans. B.  
[(428 + 124) ÷ 23] + 15 × 5 = ? 

⇒ [(552) ÷ 23] + 75 = ? 

⇒ 24 + 75 = ? 

⇒ ? = 99 

Hence, option B is correct. 
42. Ans. C.  

16 + − 121 = ? × 5 

⇒ 16 + 50 – 121 = ? × 5 

⇒ ? × 5 = −55 

⇒ ? = −11 

Hence, option C is correct. 
43. Ans. C.  

Dividend = Quotient × Divisor + 
Remainder 

Dividend = 61 × 16 + 0 = 976 
So, the dividend is 976. 

When 976 is divided by 61, the 

correct quotient =  = 16 

Hence, option C is correct. 

44. Ans. A.  

Let the total income be Rs. x. 
Amount spend on education = x × 

 = Rs. 0.25x 

Amount spend on food = x × 0.25 
= Rs. 0.25x 

Remaining amount = x – 0.25x – 
0.25x = 0.50x 

11249 = 0.50x 
Or, x = 22498 

Hence, option A is correct. 
45. Ans. B.  

Simple interest =  = Rs. 

1371 

Hence, option B is correct. 
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46. Ans. D.  
Let the total population be x. 

According to the data provided in 
the question, we get: 

x ×  = 142843 

⇒ x = 142843 ×  = 172100 

Hence, option D is correct. 
47. Ans. C.  

Cost price of the product = 

 = Rs. 3500 

New selling price = 3500 × 1.15 = 

Rs. 4025 
Hence, option C is correct. 

48. Ans. A.  
Let the number of mangoes be x. 

According to the data provided in 
the question, we get: 

x × 0.75 = 426 

⇒ x = 568 

Hence, option A is correct. 

49. Ans. C.  
Let the sum invested be Rs. x. 

According to the data provided in 
the question, we get: 

x + 1032 = x  

⇒ x + 1032 = x ×  

⇒ 400(x + 1032) = x × 529 

⇒ 529x – 400x = 1032 × 400 

⇒ 129x = 1032 × 400 

⇒ x = 3200 

Hence, option C is correct. 

50. Ans. B.  
The pattern of the series is: 

23 + 31 = 26 
26 + 32 = 35 

35 + 33 = 62 
62 + 34 = 143 

143 + 35 = 386 
Hence, the missing number is 386. 

51. Ans. A.  
The pattern of the series is: 

25 + 12 = 37 
37 + 24 = 61 

61 + 36 = 97 
97 + 48 = 145 

145 + 60 = 205 
Hence, the missing number is 37. 

52. Ans. C.  
The pattern of the series is: 

6 × 1 + 1 = 7 
7 × 2 + 2 = 16 

16 × 3 + 3 = 51 

51 × 4 + 4 = 208 
208 × 5 + 5 = 1045 

Hence, the missing number is 208. 
53. Ans. D.  

The pattern of the series is: 
1800 ÷ 6 = 300 

300 ÷ 5 = 60 
60 ÷ 4 = 15 

15 ÷ 3 = 5 
5 ÷ 2 = 2.5 

Hence, the missing number is 300. 
54. Ans. B.  

By solving this question by 
allegation method, 

Bottle Jug 

20 −5 

        5 

10 15 
Ratio of the cost of bottle to jug = 

10 : 15 = 2 : 3 

The cost of the bottle = = 

Rs. 800 

Hence, option B is correct. 
55. Ans. A.  
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Let the cost price of the Kurta be Rs. 
100. 

Marked price of the Kurta = 100 × 
140% = Rs. 140 

Selling price of the Kurta = 140 × 
70% = Rs. 98 

Loss on Kurta = 100 – 98 = Rs. 2 

Loss percentage =  = 2% 

Hence, option A is correct. 

56. Ans. C.  
Let the two digit number be xy. 

xy = (10x + y) 
After reversing the digits, the 

number = yx = 10y + x 
According to the data provided in 

the question, we get: 

(10x + y) – (10y + x) = 18 
⇒ 9x – 9y = 18 

⇒ x – y = 2 …..(1) 

Given, x + y = 12 …..(2) 
After solving equation 1 and 2, we 

get: 
x = 7, y = 5 

Product of the digits = 7 × 5 = 35 
Hence, option C is correct. 

57. Ans. A.  
Let the sum be Rs. x. 

Let the rate of interest be y% per 
annum. 

Amount after 1.5 years = Rs. 2x 
Simple interest = 2x – x = Rs. x 

According to the data provided in 

the question, we get: 

x =  

⇒ y =  

Let after t years, the sum will be 8 
times. 

Amount after t years = 8x 
Simple interest = 8x – x = Rs. 7x 

So, 7x =  

⇒ t = 10.5 

Hence, option A is correct. 

58. Ans. D.  
The son who is 17 years old will be 

20 years old after 3 years and son 
who is 18 years old will be 20 years 

old after 2 years. 
Let the share of the elder son be Rs. 

x. 

Share of the younger son = Rs. 
(29400 – x) 

According to the data provided in 
the question, we get: 

x = (29400 – x)  

⇒ x = (29400 – x)  

⇒ x = (29400 – x) ×  

⇒ 10x = 29400 × 11 – 11x 

⇒ 21x = 29400 × 11 

⇒ x = 15400 

Share of the younger son = (29400 
– 15400) = Rs. 14000 

Hence, option D is correct. 

59. Ans. C.  
Let the sum invested in scheme A 

be Rs. x. 
Sum invested in scheme B = Rs. 

(12000 – x) 
According to the data provided in 

the question, we get: 

 = 3350 

⇒ 25x + 360000 – 30x = 335000 

⇒ 5x = 25000 

⇒ x = 5000 

The sum invested in scheme B = 

12000 – 5000 = Rs. 7000 
Hence, option C is correct. 
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60. Ans. D.  
172 − 102 + 9 × 13 = (? – 6) × 9 

⇒ 289 – 100 + 117 = (? – 6) × 9 

⇒ (? – 6) × 9 = 306 

⇒ (? – 6) = 34 

⇒ ? = 34 + 6 

⇒ ? = 40 

Hence, option D is correct. 

61. Ans. A.  

+ 122 + ? = 180 

⇒ + 144 + ? = 180 

⇒ + 144 + ? = 180 

⇒ 8 + 144 + ? = 180 

⇒? = 180 – 152 

⇒ ? = 28 

Hence, option A is correct. 
62. Ans. B.  

[(24 + 16 × 15) ÷ 11] + ? = 

 + 12 

⇒ [(24 + 240) ÷ 11] + ? = 28 + 12 

⇒ (264 ÷ 11) + ? = 40 

⇒ 24 + ? = 40 

⇒ ? = 16 

Hence, option B is correct. 
63. Ans. D.  

124 + 156 – 106 + ? = 182 

⇒ 280 – 106 + ? = 324 

⇒ ? = 324 – 174 

⇒ ? = 150 

Hence, option D is correct. 
64. Ans. A.  

Sum of the sale for 5 weeks = 6535 
+ 6627 + 6755 + 6830 + 6962 = 

Rs. 33709 
Sum of the sale for 6 weeks = 6800 

× 6 = Rs. 40800 
Sale for the 6th week = 40800 – 

33709 = Rs. 7091 
Hence, option A is correct. 

65. Ans. D.  
According to the data provided in 

the question, we get: 
Cost price of 96 rings – Selling price 

of 24 rings = Selling price of 96 
rings 

Cost price of 96 rings = Selling price 
of 120 rings 

Let the cost price of 1 ring be Re. 1. 
Cost price of the 96 rings = Rs. 96 

Cost price of 120 rings = Rs. 120 
Selling price of 120 rings = Rs. 96 

Loss = 120 – 96 = Rs. 24 

Loss percentage =  × 100 = 20% 

Hence, option D is the correct. 

66. Ans. B.  

Cost price of the laptop = Rs. 12000 
Selling price of the laptop = 12000 

× 1.25 = Rs. 15000 
Marked price of the laptop = 

 = Rs. 18750 

Hence, option B is correct. 

67. Ans. A.  
Let the quantity of the milk in the 

mixture be 5x litres. 
Quantity of the water in the mixture 

= 3x litres 
According to the data provided in 

the question, we get: 

 =  

⇒ 15x + 240 = 21x 

⇒ 6x = 240 

⇒ x = 40 

Quantity of the milk in the resultant 

mixture = 40 × 5 + 80 = 280 litres 
Hence, option A is correct. 

68. Ans. B.  
Total weight of the girls = 20 × 54 

= 1080 kg 
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Total weight of the boys = 15 × 61 
= 915 kg 

Average weights =  = 57 kg 

Hence, option B is correct. 

69. Ans. C.  
The pattern of the series is: 

15 + 11 = 26 
26 + 16 = 42 

42 + 21 = 63 
63 + 26 = 89 

89 + 31 = 120 
Hence, the missing number is 89. 

70. Ans. A.  
The pattern of the series is: 

102 + 1 = 101 
122 + 1 = 145 

142 + 1 = 197 

162 + 1 = 257 
182 + 1 = 325 

202 + 1 = 401 
Hence, the missing number is 145. 

71. Ans. B.  
The pattern of the series is: 

20 + 13 = 21 
21 + 23 = 29 

29 + 33 = 56 
56 + 43 = 120 

120 + 53 = 245 
Hence, the missing number is 120. 

72. Ans. D.  
The pattern of the series is: 

3 × 2 + 2 = 8 

8 × 2 + 2 = 18 
18 × 2 + 2 = 38 

38 × 2 + 2 = 78 
78 × 2 + 2 = 158 

Hence, the mising number is 8. 
73. Ans. C.  

Ratio of the profit share of A, B and 
C = (24000 × 12) : (20000 × 12) : 

(30000 × 8) = 6 : 5 : 5 

Profit share of C =  = Rs. 

3750 

Hence, option C is correct. 
74. Ans. B.  

Ratio of the profit share of M and N 
= (48000 × 5) : (60000 × 3) 

= 4 : 3 

Total profit share =  = Rs. 

3150 
Hence, option B is correct. 

75. Ans. A.  
Quantity of the milk in the mixture 

=  = 192 litres 

Quantity of the water in the mixture 

=  = 72 litres 

Quantity of milk that is taken from 

the mixture =  = 40 litres 

Quantity of water that is taken from 

the mixture =  = 15 litres 

Quantity of the milk in the final 

mixture = 192 – 40 = 152 litres 

Quantity of the water in the final 
mixture = 72 – 15 + 19 = 76 litres 

Required ratio = 152 : 76 = 2 : 1 
Hence, option A is correct. 

76. Ans. D.  
Let the cost price of the article be 

Rs. 5x. 
Marked price of the article = Rs. 8x 

Selling price of the article = Rs. (8x 
– 120) 

According to the data provided in 
the question, we get: 

8x – 120 = 360 

⇒ 8x = 480 

⇒ x = 60 
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Cost price of the article = 60 × 5 = 
Rs. 300 

Hence, option D is correct. 
77. Ans. B.  

Sum of the run scored in 4 cricket 
matches = 85 + 95 + 75 + 85 

= 340 
Sum of the run scored in 5 cricket 

matches = 87 × 5 = 435 
The run scored in 5th cricket match 

= 435 – 340 = 95 
Hence, option B is correct. 

78. Ans. C.  
  

 
79. Ans. B.  

 
 

80. Ans. C.  
  

 
81. Ans. D.  
  

 
82. Ans. C.  

I. A < U - False 
II. M > G - False 

83. Ans. A.  
  

I. I < T - True 
II. R < A - False 
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84. Ans. A.  
  

I. F > L - true 
II. A < H - False 

85. Ans. B.  
  

I. Q < Y - Q > E ≤ W ≤ R < T = Y - 
False 

II. E < Y - E ≤ W ≤ R < T = Y - True 
86. Ans. A.  

  
I. Z ≤ B - Z ≤ X ≤ C = V ≤ B - True 

II. C < M - C = V ≤ B > N ≤ M – 
False 

87. Ans. B.  

  
SMART//TЯAMƧ 

88. Ans. A.  

  

Letter are replaced with their 
opposite letter as per English 

alphabetical series. 
89. Ans. A.  

  
All the letters are reversed from left 

to right then moved 4 place 
forward. 

90. Ans. D.  
M # N $ O # P means 

M is the wife of N. N is the father of 
O. O is the wife of P. 

 
 

 
 

 
 

 

91. Ans. D.  
  

 
92. Ans. A.  
  

Y is the mother of P 
93. Ans. D.  

  
94. Ans. D.  

  
All the letters are reversed from left 

to right then moved 4 place 
forward. 

95. Ans. C.  
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96. Ans. B.  
  

 
97. Ans. A.  
  

 
98. Ans. B.  

  

 
 

 

99. Ans. B.  
  

 
100. Ans. A.  

  

 
101. Ans. D.  

  

 
102. Ans. D.  
  

 
103. Ans. D.  
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104. Ans. B.  
  

 
105. Ans. A.  
  

 
106. Ans. A.  
  

 
107. Ans. A.  
  

 
108. Ans. B.  
  
PHONE//ƎИOHꟼ 

109. Ans. A.  

  

 
110. Ans. D.  

  
All letters move 3 places forward. 

111. Ans. D.  
  

112. Ans. A.  

  
Moon is a Satellite. 

 

113. Ans. B.  
‘supreme court give decision’ is 

written as ‘dj rf ko gc’. 
‘court decision are implemented’ is 

written as ‘et ko gc hr’. 
‘implemented workers are supreme’ 

is written as ‘ia hr et rf’. 
‘workers give important 

contribution’ is written as ‘mv ol ia 
dj’. 

‘contribution in decision effective’ is 
written as ‘bg tn gc ol’. 

Solution 

 
Therefore, option B is the right 
answer. 

114. Ans. D.  

‘supreme court give decision’ is 
written as ‘dj rf ko gc’. 

‘court decision are implemented’ is 
written as ‘et ko gc hr’. 

‘implemented workers are supreme’ 
is written as ‘ia hr et rf’. 

‘workers give important 
contribution’ is written as ‘mv ol ia 

dj’. 
‘contribution in decision effective’ is 

written as ‘bg tn gc ol’. 
Solution 
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1) Code for ‘effective’ can be 

ascertain from [If ‘effective decision 
implemented’ is coded as ‘hr gc tn’] 

as code for ‘in’ and ‘effective’ is 
uncertain in the question while 

codes for other words are certain. 
It can be concluded from the above 

statement the code for ‘effective’ is 
‘tn’ hence the code for ‘in’ will be 

‘bg’. 
2) Code for ‘implemented’ can be 

ascertain from [If ‘effective decision 
implemented’ is coded as ‘hr gc tn’] 

as code for ‘implemented’ and ‘are’ 
is uncertain in the question while 

codes for other words are certain. 

It can be concluded from the above 
statement the code for 

‘implemented’ is ‘hr’ hence the code 
for ‘are’ will be ‘et’. 

Therefore, option D is the right 
answer. 

115. Ans. B.  
‘supreme court give decision’ is 

written as ‘dj rf ko gc’. 
‘court decision are implemented’ is 

written as ‘et ko gc hr’. 
‘implemented workers are supreme’ 

is written as ‘ia hr et rf’. 
‘workers give important 

contribution’ is written as ‘mv ol ia 

dj’. 

‘contribution in decision effective’ is 
written as ‘bg tn gc ol’. 

Solution 

 
Therefore, option B is the right 
answer. 

116. Ans. E.  
‘supreme court give decision’ is 

written as ‘dj rf ko gc’. 
‘court decision are implemented’ is 

written as ‘et ko gc hr’. 
‘implemented workers are supreme’ 

is written as ‘ia hr et rf’. 
‘workers give important 

contribution’ is written as ‘mv ol ia 
dj’. 

‘contribution in decision effective’ is 

written as ‘bg tn gc ol’. 
Solution 

 
1) Code for ‘implemented’ and ‘are’ 

is uncertain but code for ‘important 
contribution’ is ‘et ol’ after the code 

for ‘implemented’ is interchanged 
with the code for ‘important’. 
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Hence from the above statement it 
can be concluded that code for 

‘implemented’ is ‘et’. 
Now, code for ‘are’ is ‘hr’ as code for 

‘implemented’ is certain. 
2) Since no code is mentioned for 

‘life’ in the given question hence the 
code for ‘life’ can be ascertained 

from the given options. 
Therefore, option E is the right 

answer. 
117. Ans. A.  

‘supreme court give decision’ is 
written as ‘dj rf ko gc’. 

‘court decision are implemented’ is 

written as ‘et ko gc hr’. 
‘implemented workers are supreme’ 

is written as ‘ia hr et rf’. 
‘workers give important 

contribution’ is written as ‘mv ol ia 
dj’. 

‘contribution in decision effective’ is 
written as ‘bg tn gc ol’. 

Solution 

 
Since no code is mentioned for ‘ap’ 
and ‘hb’ in the given question hence 

the codes for ‘ap’ and ‘hb’ can be 
ascertained from the given options. 

Therefore, option A is the right 
answer. 

 

 

118. Ans. C.  
1. K lives on the second floor. 

2. Q lives below K in flat B. 
3. There are two floors between Q 

and N and both lives in different 
flats. 

 
4. W lives in the south-east of N but 

not with K. 
5. W lives in the north-east of R, 

who does not live on the ground 
floor. 

(Here, case 1 will be eliminated and 
we will continue with the case 2) 

 
6. J lives in the north-west of O. 
7. V lives below G and above F. 

 
Hence, the required answer is ‘V’. 
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119. Ans. D.  
1. K lives on the second floor. 

2. Q lives below K in flat B. 
3. There are two floors between Q 

and N and both lives in different 
flats. 

 
4. W lives in the south-east of N but 
not with K. 

5. W lives in the north-east of R, 
who does not live on the ground 

floor. 
(Here, case 1 will be eliminated and 

we will continue with the case 2) 

 
6. J lives in the north-west of O. 

7. V lives below G and above F. 

 
Hence, the required answer is ‘J, G. 
 

 

120. Ans. E.  
1. K lives on the second floor. 

2. Q lives below K in flat B. 
3. There are two floors between Q 

and N and both lives in different 
flats. 

 
4. W lives in the south-east of N but 

not with K. 
5. W lives in the north-east of R, 

who does not live on the ground 
floor. 

(Here, case 1 will be eliminated and 
we will continue with the case 2) 

 
6. J lives in the north-west of O. 
7. V lives below G and above F. 
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Hence, the required answer is 
‘None’. 

121. Ans. D.  
1. K lives on the second floor. 

2. Q lives below K in flat B. 
3. There are two floors between Q 

and N and both lives in different 
flats. 

 
4. W lives in the south-east of N but 

not with K. 
5. W lives in the north-east of R, 

who does not live on the ground 
floor. 

(Here, case 1 will be eliminated and 
we will continue with the case 2) 

 
6. J lives in the north-west of O. 

7. V lives below G and above F. 

 
Hence, the required answer is ‘J’. 

122. Ans. B.  
1. K lives on the second floor. 

2. Q lives below K in flat B. 
3. There are two floors between Q 

and N and both lives in different 
flats. 

 
4. W lives in the south-east of N but 

not with K. 
5. W lives in the north-east of R, 

who does not live on the ground 
floor. 

(Here, case 1 will be eliminated and 
we will continue with the case 2) 

 
6. J lives in the north-west of O. 
7. V lives below G and above F. 

 
Hence, the required answer is ‘F’. 
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123. Ans. D.  

 
Hence, the required answer is 
‘north-west’. 

124. Ans. E.  

 
O is in north-west of N. 

125. Ans. C.  

 
Hence, the required answer is 

‘south-west’. 

126. Ans. A.  
457 632 893 249 542 782 

Now, if ‘1’ is added to the first digit 
of all the even numbers and ‘2’ is 

subtracted from the third digit of all 
the odd numbers we will get: 

455 732 891 247 642 882 
Now, clearly in ‘455’ which is 

formed from ‘457’ digit 5 appears 
twice. 

Similarly in ‘882’ which is formed 
from ‘782’ digit 8 appears twice. 

Hence, option (A) is the right 
answer. 

127. Ans. B.  
457 632 893 249 542 782 

Now, if all the numbers are 
arranged in ascending order from 

left to right we will get: 

249 457 542 632 782 893 
Now, fourth number from the right 

end is 542. 
Now, the product of the first and 

second digits ‘542’ = (5*4) = 20 
Hence, option (B) is the right 

answer. 
128. Ans. D.  

457 632 893 249 542 782 
Now, if the first and the third digits 

are interchanged in each of the 
given numbers we will get: 

754 236 398 942 245 287 
Now, clearly the lowest number is 

‘236’ which is formed from ‘632’. 

Hence, option (D) is the right 
answer. 

129. Ans. C.  
According to given conditions, 

C O M P U T E R – B P L O V S F Q 
Now, arranged from right to left, 

V S Q P O L F B 
Hence, required answer is ‘O’. 

130. Ans. C.  
Original word = ENFRANCHISE 

Rearranged word = ACEEFHINNRS 
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1st, 4th, 8th, 10thand 11th letters = A, 
E, N, R, S 

Words starts with S = SANER, 
SNARE 

131. Ans. A.  
745236745 

If 2 is added to first four digits of the 
number and 1 is added to last five 

digits of the number – 967447856 
Clearly, 4, 6 and 7 are repetitive. 

132. Ans. B.  

 
Required difference = 5000 – 3750 

= Rs. 1250 
Hence, option B is correct. 

133. Ans. A.  

 
Required ratio = 4000 : 6000 = 2 : 
3 

Hence, option A is correct. 
134. Ans. B.  

 
Required percentage more = 

 = 25% 

Hence, option B is correct. 

 
 

135. Ans. D.  

 
Amount invested on FD = Rs. 4000 

Simple interest =  = Rs. 

960 

Hence, option D is correct. 
136. Ans. E.  

• The Reserve Bank of India 
releases the Financial Stability 

Report (FSR). 
• The report reflects the collective 

assessment of the Sub-Committee 
of the Financial Stability and 

Development Council (FSDC) on 
risks to financial stability. 

• Recently RBI released 18th issue of 
FSR Report. 

137. Ans. B.  

• Recently, the Department for 
Promotion of Industry and Internal 

Trade (DPIIT) has launched a 
regulatory compliance portal that 

will act as a bridge for citizens, 
industries and the government to 

minimise burdensome compliances. 
• DPIIT comes under the Ministry of 

Commerce and Industry. 
• It is acting as the nodal 

department for coordinating the 
exercise of minimizing regulatory 

compliance burden for citizens and 
businesses which have an adverse 

impact on time and cost of 

businesses. 
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138. Ans. A.  
The Zayed Cricket Stadium will be 

the new home of T10 cricket for the 
next five years, starting with the 

2019 season.  
The Abu Dhabi Cricket (ADC), in 

partnership with the Abu Dhabi 
Sports Council (ADSC) and the 

Department of Culture and Tourism 
Abu Dhabi (DCT Abu Dhabi), has 

signed a five-year agreement with 
the organisers of the T10 Cricket 

League. 
The shortest form of the game will 

now be played exclusively at the 

Zayed Cricket Stadium. 
139. Ans. C.  

• Russia on 5th September, 2019 
awarded its highest state honour 

'Order of St Andrew the Apostle' 
to PM Narendra Modi for 

promoting bilateral special and 
privileged strategic partnership. 

• With this award, Modi has become 
the first Prime Minister to receive 

the highest award in the world 
as a prime minister. 

• The Order of St Andrew the 
Apostle is awarded to prominent 

statesmen and public figures and 

representatives of science, culture, 
the arts and various industries for 

their exceptional services in 
promoting the prosperity, greatness 

and glory of Russia. 
• The order can also be awarded to 

foreign heads of state for 
outstanding services to Russia. 

140. Ans. A.  
* Santacruz railway station in 

Mumbai is the 1600th station in 

India to become Rail-Wire Wi-Fi 
zone. 

* RailWire is an initiative of RailTelto 
provide broadband network to 

public. 
* Aim of RailWire is to provide fast 

and free Wi-Fi network to public at 
all the railway stations in India 

within a year. 
* RailTel corporation of India Ltd. Is 

a public sector enterprise, this is 
one of the largest neutral telecom 

infrastructure provider of 
Government of India. 

141. Ans. A.  

• This museum pays tribute to the 
sacrifices and martyrdom of 

thousands of Indians, many of 
whom remain anonymous to date, 

with no records in history capturing 
their sacrifice for our motherland. 

• Museum was inaugurated by 
Union Minister Mahesh Sharma on 

4th March 2019. 
• This new museum ‘Azaadi ke 

Diwane’ is started in the series of 
Kranti Mandir to inspire the younger 

generation and let them know the 
cost of freedom that the great 

fighters achieved by sacrificing their 

lives. 
142. Ans. D.  

The winner of the 2019 World Chess 
Championship is Magnus Carlsen. 

143. Ans. C.  
The world’s first floating nuclear 

power plant has been started at the 
Baltiysky Zavod shipyard in Saint 

Petersburg, Russia. 
They are designed to maintain both 

uninterruptible power and plentiful 
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desalinated water supply in remote 
areas. 

144. Ans. E.  
The Asian Development Bank is a 

regional development bank 
established on 19 December 1966, 

which is headquartered in the 
Ortigas Centre located in the city of 

Mandaluyong, Metro Manila, 
Philippines. 

145. Ans. C.  
● Brazil will host the 11th BRICS 

Summit in 2019. 
● In 2020, Russia will host the 12th 

BRICS Summit. 

Note: 
● The 10th BRICS Summit 2018 was 

hosted by South Africa in 
Johannesburg. 

● The theme of the BRICS summit 
2018 was - Collaboration for 

Inclusive Growth and Shared 
Prosperity in the 4th Industrial 

Revolution. 
● BRICS member countries include 

- Brazil, Russia, India, China and 
South Africa. 

146. Ans. E.  
The book “No Presents Please” has 

been authored by Jayant Kaikini. 

 
Jayant Kaikini's 'No Presents Please' 

wins DSC prize for South Asian 
literature 2019. 

 
No Presents Please, a collection of 

stories set in Mumbai was originally 
written in the southern Indian 

language of Kannada and translated 
into English by the award-winning 

translator Tejaswini Niranjana.  

No Presents Please is the first work 
in translation to win the award in 

the prize’s eight-year history. The 
award has been won in the past by 

authors including Jeet Thayil and 
Jhumpa Lahiri. 

147. Ans. C.  
State Bank of India (SBI), the 

largest commercial bank in India 
will soon launch country’s first 

integrated lifestyle and banking 
digital service platform named 

YONO (acronym for ‘You Only Need 
One’). 

YONO is first digital banking 

platform that will allow customers to 
meet their lifestyle needs across 14 

categories including booking and 
renting cabs, entertainment, dining 

experience, travel and stay etc. 
148. Ans. C.  

• The Ramon Magsaysay Award is 
an annual award which was 

established by name of former 
Philippine President Ramon 

Magsaysay. 
• Bharat Vatwaniwas awarded for 

leading the rescue of thousands of 
mentally ill paupers to treat and 

reunite them with their families. 

• Sonam Wangchuk won the 
award for his contribution in 

harnessing nature, culture and 
education for community progress. 

149. Ans. B.  
Diu has become the first Union 

territory of India to run completely 
on solar power energy. Diu is one of 

the least populated UTs in India 
which have a geographical area of 

only 42 kilometres. The solar power 
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plants have been installed over 50 
acres in Diu. 

150. Ans. D.  
Professor Najma Akhtar has been 

appointed as the vice-chancellor of 
Jamia Millia Islamia, making her the 

first woman to hold the charge. 
She is a gold medallist from Aligarh 

Muslim University (AMU) and 
completed her PhD (Education) 

from Kurukshetra University. 
She held posts of faculty and 

Controller of Examinations and 
Admissions and Director, Academic 

Programmes at AMU. 

151. Ans. A.  
Piano Day, an annual worldwide 

event founded by a group of like-
minded people, takes place on the 

88th day of the year – in 2019 it’s 
the 29th March – because of the 

number of keys on the instrument 
being celebrated. 

152. Ans. C.  
 Two Indian Navel Ships INS 

Kolkata and INS Shakti took part in 
the Chinese Navy’s 70th anniversary 

of celebrations in April 2019. 
• The two ships visited Chinese port 

Qingdao on 21 to 26 April to 

participate in an International Fleet 
Review to celebrate the 70th 

anniversary of the People’s 
Liberation Army (PLA) Navy. 

• INS Kolkata is the lead ship of the 
Kolkata-class stealth guided-missile 

destroyers of the Indian Navy. It 
lists of armaments reportedly 

included Brahmos supersonic anti-
ship and land-attack cruise missiles 

on the other hand INS Shakti is a 
tanker and supply ship 

153. Ans. B.  
• India will host the G20 

presidency in 2022 and this would 
be the 17th G-20 Summit. 

• It will be the first time when India 
will host the G-20 summit. 

• This year the G-20 summit will be 
hosted by Saudi Arabia on 20-21 

Nov, 2020. 
154. Ans. C.  

• Indian cricket captain Virat 
Kohli received the 2018 Rajiv 

Gandhi Khel Ratna award along 

with weightlifter Saikhom Mirabai 
Chanu. Chanu is the first Indian to 

win gold at the World 
Championships in more than two 

decades. 
• The Rajiv Gandhi Khel Ratna is the 

highest sporting honour in India. It 
is named after Rajiv Gandhi, former 

Prime minister, who served from 
1984-1989. 

• It was instituted in 1991-92 and 
the first recipient of this award was 

chess grandmaster Vishwanathan 
Anand. 

155. Ans. C.  

Norway ranked at topped position in 
the World Human Development 

Index 2017. Australia and 
Switzerland raked at second & third 

positions respectively in HDI 2018. 
Note: India ranked at 131st 

positions among 188 countries. The 
report is published by United 

Nations Development Programme 
(UNDP). 
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156. Ans. A.  
Sunil Arora assumed charge as 

23rd Chief Election Commissioner 
(CEC) of India. He succeeded OP 

Rawat who retired on 1 December 
2018. He will have nearly two-and-

a-half-year tenure as CEC and 
General Election 2019 to 17th Lok 

Sabha will be conducted under his 
stewardship. 

 
The Chief Election Commissioner 

heads the Election Commission of 
India, a body constitutionally 

empowered to conduct free and fair 

elections to the national and state 
legislatures. 

157. Ans. C.  
Krishnamurthy Subramanian is an 

Indian economist and the current 
Chief Economic Adviser to the 

Government of India (CEA). 
Office of the Economic Adviser 

(OEA) is an attached office of the 
Department for Promotion of 

Industry and Internal Trade, 
Ministry of Commerce & Industry. 

The main functions of the Office of 
Economic Adviser include, inter alia 

the following: 

Policy Functions 
Economic policy inputs on industrial 

development. 
Analysis of trends of industrial 

production and growth. 
Examination of multilateral and 

bilateral issues and processing 
Policy Notes with economic 

implications referred to the Office. 
 

 

158. Ans. C.  
The World Economic Forum (WEF), 

based in Cologny-Geneva, 
Switzerland, was founded in 1971 

as a not-for-profit organization.  
 

Cologny is a municipality in the 
Canton of Geneva, Switzerland. 

 
It was granted "other international 

body" status in January 2015 by the 
Swiss Federal Government under 

the Swiss Host-State Act 
(International Organization status 

requires multiple governments). 

 
The WEF's mission is cited as 

"committed to improving the state 
of the world by engaging business, 

political, academic, and other 
leaders of society to shape global, 

regional, and industry agendas" 
159. Ans. A.  

World Economic Outlook report 
prepared by IMF is published 

usually twice a year. It analyses 
the global economic health in the 

near and medium-term. 
160. Ans. C.  

• Section 12 of BR Act 1949 deals 

with the Capital structure in a 
banking company. 

• It basically deals with regulation 
of paid-up capital, subscribed 

capital and authorised capital and 
voting rights of shareholders. 

161. Ans. E.  
• On 20 April 2019 Indian Navy 

launched guided missile destroyer 
‘Imphal’ at Mazagon Dock 

Shipbuilders in Mumbai. 
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• Imphal is the third successful ship 
launched under 15B project. 

• ‘Visakhapatnam’ was the first 
successful ship under project 15B 

that was launched on 20 April 2015. 
162. Ans. C.  

Israeli goalkeeper Isaak Hayik set a 
Guinness World Record when he 

became the oldest person to play in 
a professional football match at 73. 

He suited up for Ironi Or Yehuda’s 
home game against Maccabi Ramat 

Gan and played for the full 90 
minutes. 

A Guinness World Records official 

was on hand to issue Hayik a 
certificate. The previous record 

holder was 53 years old Uruguayan 
Robert Carmona who was played a 

professional match in 2015. 
163. Ans. A.  

Bharti Airtel has received approvals 
from the capital markets regulator 

Securities and Exchange Board of 
India, and from the stock 

exchanges BSE and NSE, for its 
proposed merger with rival Telenor 

India. 
164. Ans. D.  

• HDFC Bank has been given the 

status of Domestic Systemically 
Important Banks (D-SIBs) in 2018. 

• SBI was the first bank to become 
D-SIBs. 

165. Ans. A.  
• Threshold for bulk deposit has 

been revised by RBI as single 
deposits of Rs 2 crore and above. 

The banks are also asked to 
maintain their bulk deposit card 

rates in the core banking system for 
supervisory review. 

166. Ans. C.  
• There were only 61 individuals 

who declared an income of more 
than ₹100 crore during assessment 

year 2017-18. 
167. Ans. A.  

• Convertible debenture is usually 
unsecured bonds or loans, often 

with no underlying collateral 
backing up the debt. 

• It is a long-term debt issued by a 
company. 

168. Ans. B.  

• Authorized capital of National 
Housing Bank (NHB) stands at Rs. 

2,000 crore of which Rs. 1,450 crore 
has been subscribed by RBl. 

• Currently, the capital is fully 
subscribed by RBl. 

169. Ans. C.  
• India has topped the list of 

countries in Global Nutrition Report 
2018 with 46.6 million children who 

are stunted, followed by Nigeria 
(13.9 million) and Pakistan (10.7 

million). 
• Stunting, or low height for age, is 

caused by long-term insufficient 

nutrient-intake and frequent 
infections. 

170. Ans. B.  
• Sweden topped the Inclusive 

Internet Index 2019 which was 
followed by Singapore and the US. 

• India ranked 47th in the overall 
"Inclusive Internet Index 2019” 

among 100 countries. 
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171. Ans. D.  
• Vadodra-based artist Raju Baraiya 

has been chosen as Glenfiddich's 
Emerging Artist of the Year 2019. 

172. Ans. A.  
• As per the EPFO payroll data, Net 

employment generation in the 
formal sector was almost around 

8.61 lakh in February compared to 
2.87 lakh in the same month of last 

year. 
173. Ans. A.  

• Indian Railways Integral Coach 
Factory (ICF) in Chennai has 

manufactured as many as 301 

coaches in the month of February, 
taking the total for this fiscal to 

2,919, become the largest rail car 
manufacturer in 2018-19. 

174. Ans. B.  
• Asset Reconstruction Company 

(ARC) is a specialized financial 
institution that buys the NPAs or 

bad assets from banks and financial 
institutions and cleans up their 

balance sheets. In other words, 
ARCs are in the business of buying 

bad loans from banks. 
175. Ans. A.  

• French govt bestowed the honour 

of Knight of the Order of Arts and 
Letters (Chevalier dans l'Ordre des 

Arts et des Lettres) on Kalki 
Koechlin, who has contributed to 

enhancing Indo-French ties in 
cinema. 

176. Ans. A.  
• Hybrid fund is an investment fund 

that is characterized by 
diversification among two or more 

asset classes. 

• These funds typically invest in a 
mix of stocks and bonds. 

177. Ans. A.  
• Reserve Bank of India (RBI) has 

constituted a task force on offshore 
rupee market to move non-resident 

Indian to the domestic market and 
improve liquidity to promote 

onshore hedging activity. 
178. Ans. B.  

• Tashigang in Himachal Pradesh is 
world’s highest polling station in 

2019 at Lok Sabha Elections 2019 
• Tashigang polling station in 

Himachal Pradesh falls in Buddhist-

dominated Lahaul-Spiti. 
179. Ans. A.  

• TPA stands for ‘Third Party 
Administrator’. 

• It is an organization that 
processes insurance claims or 

certain aspects of employee benefit 
plans for a separate entity. 

180. Ans. C.  
• SHREYAS is Scheme for Higher 

Education Youth in Apprenticeship 
and Skills. 

• It is a central government scheme 
for providing industry 

apprenticeship opportunities in April 

2019 through National 
Apprenticeship Promotional Scheme 

(NAPS). 
181. Ans. B.  

• Badminton ace PV Sindhu became 
first women to co-pilot Light 

Combat Aircraft (LCA) Tejas at 12th 
edition of Aero India. 
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182. Ans. A.  
• Committee on Deepening of 

Digital Payments, which was formed 
in January 2019, was led by Nandan 

Nilekani. 
183. Ans. A.  

• Fincare Small Finance Bank is 
headquartered in Bengaluru, India 

and has 3 office locations across 1 
country. 

184. Ans. B.  
• FATF stands for Financial Action 

Task Force. 
• It is an inter-governmental body 

established in 1989. 
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